Corsodi Laureain Ingegneria Edile
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Problema 1
U= S(i,j=14 i*j) QQ/4per;

Problema 2
Ex=-V/Tx = -5+ 6xy Ex (Po)=-5V/m
Ey= -y =3¢-27 Ey (Po)= -5V/m
Ez=-1V/Mz = -4yz Ez(Py)=0
E=7.1VIm

Problema 3

j=1/pRf=25510°AInf J=nevy n=Jey = 5310"°m*
Dt= DQ/I = (N, )/l = 1.2 10"

Problema 4

mv¥/R=qvB m= gB/2pf conf=5 Dt m= 3.810% kg

Problema 5

= - d/dt[BA] = - d/dt[0.5 mynlA] = -0.5 mynpr?di/dt = - 4.810*V
|=eR=16A B= ml/2r=210"°T

Problema 6

E 2pr = - d/dt[mynl pr’] E= - 9.87 cos (100pt)
Le linee del campo hanno verso orario



